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 µtrimmed = 0.53

 µtrimmed = 1.36

 µtrimmed = 1.14  µtrimmed = 1.14

 µtrimmed = 1.24

 pBonferroni−corrected = 0
 pBonferroni−corrected = 1e−10

 pBonferroni−corrected = 8.16e−12
 pBonferroni−corrected = 3.53e−13

 pBonferroni−corrected = 1.85e−05
 pBonferroni−corrected = 0.001

 pBonferroni−corrected = 0.031
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F trimmed−means(3.64,808.60) = , p = NA, δR−avg
AKP  = 0.01, CI95% [−0.27, 0.33], npairs = 371

PC.aa.C32.2

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant


